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General Instructions :
1. The question paper comprises of two Sections, A and B. You are to attempt both the
sections.

2 All questions are compulsory

3, All questions of Section-A and all questions of Section-B are (o be attempted separately.

4. Question numbers 1 to 3 in Section-A are one mark questions. These are to be answered in
one word or in one sentence

5. Question numbers 4 to 6 in Sections-A are two marks questions. These are to be answered
in about 30 words each.

6, Question numbers 7 to 18 in Section-A are three marks questions. These are to be
answered in about 50 waords each

7. Question numbers 19 to . .
answered in about 70 war —

&mmmumnhwmmﬂ&pﬁmw on practieal
skills. Each question is a one mark question. Tmmhnhtmmw

response out of the four provided to you.
9. Question numbers 34 to 36 in Section-B are questions based on practical skills are two
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marks questions.
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write two diferences between the resporse of the plants and response of the animals to
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Give reasons for the following :

(i) Wunnmnmppumlphnhﬁuumhuﬂmm]butmtﬂvwmmmhum
in a copper vessel.
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(i)  Food cans are coated with tin rather than zinc, e
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(a)  Write the electron-dot structure for calcium and sulphur,
(b)  Show the formation of CaS by the transfer of electrons.
(<) Hmmtheinmpmmlnthi::umpnmdtﬁ.

(Atomic number of Ca =20, 5= 16)
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ﬁmluﬁmnfumnu]:altwuh:pthlmppnpu After a few days, the copper pot was

HF; found to have a number of holes on it. Explain the reason with the help of equation. Which

A metal could it possibly be ?
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Express the following facts in the form of a balanced chemical equation :

() When a strip of copper metal Is placed in a solution of silver nitrate, metallic sibver i
mmmiMlMMWMHM?

(i} Barium chioride solution reacts with sodium sulphate solution 1o give insokible barium
sulphate and a solution of sodium chioride.
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Define breathing. Explain the mechanism of breathing in human beings.

12w R R Wi R R st w b e we F vk wim ae b
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Explain how does our body respond when adrenaline hormone is secreted into the blood ?
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Describe double circulation in human beings. Why is it necessary ?
E 41
List two characteristic properties of a magnet. Show that the two poles of a magnet have
different behaviour.

15 Tl e vl & & 2R ¥ W e 220 Vo wEE W s S i g ew so 3
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The potential difference between the two terminals of an electric iron s

mvwmwmmﬁmmhsnmmuﬁmm
wattage of the electric iron.
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A 5 {1 resistar is connected across a battery of & volts. Calculate :

(i) the current flowing through the resistor.

{iiy  the energy that dissipates as heat in 10 s,
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Jyoti visited her village and saw many villagers using wood for cooking food. She talked to
mmwmmmmmmhmmnﬂhmﬂmrgy. The villagers asked her
to help them as they were totally ignorant about it. Jyoti happily agreed. Now answer the
following questions :

(i) Name any two other sources of energy that can be used by the villagers.

() Why did Jyoti try to convince the villagers not to use wood as fuel 7

(iif)  State the values that prompted Jyoti's action.

M w0 W 6 w0 w5 e o wemgant et 3

State any three limitations of harnessing nuclear energy.
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(i) D=t fa o o Of 0 3 & vt s

fiv) 3 % vt ¥ e el v S w d
(v)  Tifw % 2T i W NaOH famm o o a1
Write balanced chemical equations for the following :

() Bleaching powder is kept open in air.

()  Blue crystals of copper sulphate are heated.
(tf)  Chlorine gas is passed through dry slaked ime.

(v}  Carbon dioxide gas is passed through lime water. M_“

L e
(v)  NaOH solution is heated with zinc granules.
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(a)  Ores of both zinc and mercury are sulphide ores. Explain the methods  used o

(b}  Canwe store concentrated solution of sodium hydroxide in a zinc container ? Explain.
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(a)  Explain, how does a muscle cell responds when a nerve impulse reaches it ?
(b) The brain is protected in a fluid filled balloon like structure inside a bony box.

Mention the advantage of the fluid and the bony box.
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What is meant by electrical resistivity of a material 7 Derive its ST unit. Describe an experiment
to study the factors on which the resistance of a conducting wire depends.
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(a)  State the meaning of “frequency’ of an alternating current. Mention its value in India.
Why is an alternating current considered to be advantageous over direct current for long
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range transmission of electric energy 7 Explain.

(b)  Why and when does a current carrying conductor kept in a magnetic field experience a
force ? List the factors on which the direction of this force depend. State the rule which may
be used to determine the direction of this force.

SR wwa W g vy e W e e W e fol ot 9 5o owmt # s
wiwirm = i €

R A B C D B

TR | 16%10~8 | 64%10~8 | 10%20~8 | 96x10-8 | 100x10-6
(0 m)
T A A7 28, T W o 2N 2, S gt ] g S
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List four factors on which the resisiance of a conductor depends, The resistivities of some
substances are given below.

Materinl | A B C D E

Resistivity | 16%10~8 | 64x10~8 | 10%10~8 |o6x10-% |100%10~ 6
(2 m) Ity ~?

Answer the following question in relation to them giving justification for each =
1] Which material is best for making connecting cords 7
(i)  Which material do you suggest to be used in heater clements ?

{iii)  You have two wires of same length and same thickness. One is made of material A and
another of materfal] D. 1 the vresistance of wire made of A ©s
2 {1, what is the resistance of the other wire ?
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sodium carbonate. The chemical compound present in lime water is :

()  calcium chioride (b} calcium sulphate
()  calcium nitrate N calcium hydroxide
% ¥ oo wem F faewt F & o w0 pH wm v sifies g
(a) T NaOH fawg (b) T HC
() o Sifiean anfamele fawm (d) 7 CHaCOOH famem
For which of the samples of equal concentration the pH value of its sample will be highest :
“or  dilute NaOH solution (b) dilute HC1
(c) dilute sodium bicarbonate solution (d)  dilute CHy COOH solution
7 Rl H a ¥ g Cu 31 CusSO, e & fawafy s § 0
(a) W ®) =
() fEem (dy W=
Which of the following metal can displace Cu from CuSCy solution 7
{a)  Silver (b) Gold
()  Platinum W Lon
28 afs iRt A, B, C, D ¥ 2951 #fifem & sMm W A > B> C> D ¥ w9 ¥ waftm fieg wng, &
a3 & & ¥ W S = 8w
(a) D, CH yo& wavig fame & faenfm = 1 5w
(b) A, B THE wEny faeee # fannfn w0 5w 8
(€ A C¥ v faers & sifufes 8 wom)
(d) BE FE D wovia e § o w § s Sl T
If the metals A, B, C and D are arranged on the basis of their neactivity as A > B> C> D, then
Cut FeT
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the statement which will not hold good will be :
(@) 'I¥ cannot displace C from its salt solution.
(b) A can displace B from its salt solution.

J&t A will not react with C.

(d} B canundergo oxidation when placed in a salt solution of D.

% wmsvEEwimEmE: 1
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The colour of copper turnings is :
{a)  Black (B)  green
{c)  reddish brown (d} Red
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(a) Ui A e dredter v,
(b) Witer Az 7 dreesiter V,
(c) Tfter A, ma deesiier Va
(d) Tt A; wa sieesier Va
The normal positions of the pointers of the two ammeters A; and As and two
voltmeters V3 and Vz available in the labaratory are shown in the given figure. Foran I

experiment to determine the equivalent resistance of two resistors connected in series '
U\Ebmuh:deenfammuhnrudw{hmmmdbe -
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(a) Anmietgr Ay and "l.l"néltmnhu* Vi
By Ammeter Az and Voltmeter Vi
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measured equivalent resistance of two resistances of a 450 and 360 resistor
ed in parallel ? Corect ralue obtained by him would be. |
@ 90 i‘
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Leaves are destarched by keeping the plant in : |
{a} 10-12 hours in night b 10-12 hours in day
(c) 2hoursinsunlight {d} 2hours in night
32 e FhE o, T AR b F A de s KOHmwd R NEEN
(o) [ewes | W Ao = g2
(b) TG S W w5
@ v R il v H N
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(d) | ﬂ;ﬁuﬁﬂ##mﬁhmﬂnﬁﬁﬂmﬂmﬂhm
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(a) | to remove water vapour from the flask
(b) to increase the rate of respiration

{c) | mreleqﬂnxygmhrruglhum
(d) hﬂn&bmﬁmdﬁdﬂ:ﬂﬁﬁd&rmﬂﬂnﬁm
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You want to study amﬂmmwmfmmmw tn a boiling
mb!.Llnhmmrpi}rm:wmIdfuﬂmvwiﬁlndnhghw

Pt wftrtees 3wl s (1) %1 = wfvines & finf o e (V) T Ffam w1 s w2
T, it wiva st wifay)

Draw a labelled circuit diagram to study the dependence of current () on the potential
difference (V) across a resistor.

T & N S aefian Wi W v st vt T Wit 2
Mention the nature of the cells that surround stomata 7 Name the cells.
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